AL RE 1239

=

2
6

oo
rlo

=
K

@ 09 AlEE2 0ol

@ 36 ©] A& 6 ol

® -16 o] AlFL-L -4 o]},

@ 4 9] ZO] AlFLL -2 ot

© /(-4)% o o] AlFTL 4 o[t



op

o] AlE

©
=

© v o

©® -9



3. -l<a<24% ) o= 42 s sphA?

\/(a—2)2— \/(a—|—1)2

® a-3 @ -2a-3 @ -2a+1
@ 3 ®1



4. VI020xa 7H AT S SHE 0 9 3 SOl 7P 2 A Aele]
Aot 7V 2 A Aol o] Q%] g Fofedal,

D R
=%



V42 < V3x
Stex =¥

© 470

@ 571

=l
=0

2ohe 1 B4 VB 7F 44T} HEg

® 674 @ 770 ® 871



=

2
6

oo

A2

Tlo

=
K

O HE 8k ge Faae Feaolth
@ HE AdF Alud2 gl

® 1 9] AlEL2 1 A4l

@ RE 5 q o Hste] Va2 =a o]t

® 1+ V2 = 7571 oyt



7. 925 dix AV S ALY
D 4> VI5+1 @ 3+ V5> V5+ V8
® V2+1>3 @ 3-V2>4-12



\S
AN
[«
—t
[\
co¥
S

@ V5 & 33 4 Apolo] g1kt
@ -2 4B o] gAF.
® A 9 B Afololli Tt A o] g4t Akt

@ V2, V3, V4, V5, V6, V7, V8 T T3t C of ot Rl
% 7 7o},
® 23 o g-53t= H2 D ot



£ A% V33 VE+1Ab]e] Relbt BE @ A

V340.09, V34+0.5, v240.5
V240.09, V2409, V3+0.7

O 2 @ 3 ® 4




10. V800 =a V2, V7500 = b V3 & ©, Vab ] gt-& Fotoi2t

L g Vab =



11. V2=a, V3=b2 2 W, V72 Ea, bE A HEHH?

O a®b? @ &b’ ® a®b @ a*b? ® ab®



12. a:b+%0]1b: VTA T, g p o E el

B e i



13.

G4 a, b ol Hote] "a+bV2 =0 0lHa=b =0tk =
4L o1-8g5ko] x(1+2V2) +y(3+5V2) = V2(1-3V2) & THEA]
7l T /25 x, y ol tiste] x4y O gh& Fobe Aot HIzk
A2 F2 2 FAol R 27

EolA

x(1+2V2) +y(3+5V2) = V2-6
o2 olgste] st
x+3y+6+ (2x+5y-1)VvV2=0
Aol Fo1 7 A of| o]s}od
x+3y+6=0-Q
2x+5y-1=0---©

o] & A& A7t W
x=[ ly=[_]
obA, x+y =[]

D x=13y=33 x+y=20

@ x=23, y=-13, x+y=10
® x=-33,y=13, x+y=-20
@ x=33 y=-13, x+y=20

® x=33, y=13, x+y=43



14. AFZENA V5 =12236 & u, V0.45 9] 7S 5ozt

Ct-

v






1
16. 2133+ — =
V7

5
=%

£ 73] sjolat,

Nej






18.

(x+a)(x=3)=x>+bx+11 & o, a+ b2 27

31 29 28
©-% @-0 0-2 @-2



=TT -~
\
\
1
4z
)
2 /
@ 28x2 +22x+4 @ 28x2-12x+4
® 28x2 -22x+4 @ 10x2 -22x+4

® 1122 -12x -4



20. e 1o A 712 2qem . A2 acm 9
lom Z1749] ] 3-32o] 91 mh A 22

7/

1
acm
\ 1cm
N — A
1¢m
D & 301 (Cm2) ® 2a2-3a-1 (Cm2)
@ a*+3a-1 (cm?)

® 2a%-3a+1 (cm?)

® 2 -1 (e



21. (x-1)(x-2)(x+2)(x + 3)= /AL f x O] Al 5tk

D L
=%



22, (x=2)(x=1)(x+1)(x+ 2) oAl x% 9] Al4E Fotof=t

D L
=%



® 13x7

@ 51 x 52

® 512

O 872

@ 37x43



24.

(2x=5)(x=3) = (3x+2)(x - 3) & dg=ofictH?

O (x+3)(x+7) @ —(x+3)(x+7
® —(x=-3)(x+7) @ —(x-3)(x=17)
® (x=3)(x+7)



25. y<x<0g®l, /x2-2xy+y2+ /x> +2xy + > &

Do @ 2x-2y ® 2x
@ 2y ® -2y



1
V2-1

o, a® - b o] F& Fstolt



27. (dx—y) (x— %y) = ANSFYS 1, xy o] Ao} 2 ] A
Tstodet

5 J=X
=%



28. (x—y)?-12x+12y+36 = (x+ay+b)> L W, 5 a, b9 F ab 2]
a0

@ 2 @ 4 ® 6 @ 11 ® 16



29. (x-2)(x=-3)(x—-4)(x-5)+1=(*+ax+b)*Ld W, a, b9 =
Fetolat,

L Eia=

Be:r=



30. x%y-y-2+2x2 9 Q57 obd 2127

@ x-1 @ x+1 @ 2 -1

@ y-2 ® y+2



4x? — 24xy + 36y% — 16

31.

2 Tstolel.

)

RE

)
—

]



32. 5007x5009+1 ©] o @ Ael50] AFY wf, olW 22 FahE?

@® 5005 @ 5006 ® 5007 @ 5008 ® 5009



33. a=2V2-4, b=3+ V2% W, 4* - dab + 4b*°] gZ Ftolet.

=
=%



34. x+y=4,xy=2%L ™, Bx+y)?-(x+3y)? 9 FZ Fstof=t (A,
x>y)

D L
-



do]7t 5em Q1 Pl WE2]F2] 2ol & xem THE

—

e

ER

@® 57x? cm? @ nx(x+5)cm?

® mx(x + 10) cm? @ nx(2x+5)cm?

® nx(2x + 10) cm?



